Chapter 03 - Operating Decisions and the Accounting System


Chapter 3 – Set B Exercises – Libby 8e
E3-1B (similar to E3-2) [LO 3-3] Reporting Cash Basis versus Accrual Basis Income

 Breeze, Inc., sells hiking equipment to customers. Its fiscal year ends on December 31. The following transactions occurred in 2015:


a.
Purchased $157,000 of new sports equipment inventory; paid $50,000 in cash and owed the rest on account.


b.
Paid employees $192,300 in wages for work during the year; an additional $5,320 for 2015 wages will be paid in January 2016.


c.
Sold sports equipment to customers for $875,000; received $635,000 in cash and the rest on account. The cost of the equipment was $412,000.


d.
Paid $20,680 cash for utilities for the year.


e.
Received $35,000 from customers as deposits on orders of new winter hiking equipment to be sold to the customers in January 2013.


f.
Received a $1,890 bill for December 2015 utilities that will be paid in January 2016.

Required: 
1. Complete the following statements: 


Cash Basis Income Statement

Accrual Basis Income Statement

Revenues

Revenues

   Cash sales

   Sales to customers

   Customer deposits

Expenses

Expenses

   Inventory purchases

   Cost of sales

   Wages paid

   Wages expense

   Utilities paid

   Utilities expense

Net income

Net income
2. Which basis of accounting (cash or accrual) provides more useful information to investors, creditors, and other users? Why?

E3-2B (similar to E3-3) [LO 2, 3] Identifying Revenues

Revenues are normally recognized when the delivery of goods or services has occurred, there is persuasive evidence of an arrangement for customer payment, the price is fixed or determinable, and collection is reasonably assured. The amount recorded is the cash-equivalent sales price. The following transactions occur in June 2016:


a.
A popular food magazine company receives a total of $14,980 from subscribers. The subscriptions begin in the next fiscal year. Answer from the magazine company’s standpoint. 


b.
On June 1, 2016, a bank lends $2,400 to a company; the note principal and $384 ($2,400 x 16 percent) annual interest are due in one year. Answer from the bank’s standpoint.


c.
Honda, Inc., sells a truck with a list, or “sticker,” price of $27,089 for $21,559 cash.


d.
Taryt department store orders 1,000 boy’s shirts for $12 each for future delivery from T-shirt World Corporation. The terms require payment in full within 30 days of delivery. Answer from T-shirt World’s standpoint.


e.   T-shirt World Corporation completes production of the shirts described in (d) and delivers the order. Answer from T-shirt World’s standpoint.


f.
T-shirt World Corporation receives payment from Taryt’s for the order described in (d). Answer from T-shirt World’s standpoint.


g.
A customer purchases a ticket from United Airlines for $322 cash to travel the following January. Answer from United Airlines’ standpoint.


h.
BMW issues $20 million in new common stock.


i.
University of Miami receives $18,300,000 cash for 60,000 twelve-game season football tickets.


j.
University of Miami plays the first football game referred to in (i).


k.
Precision Builders signs a contract with a customer for the construction of a new $500,000 warehouse. At the signing, Precision receives a check for $150,000 as a deposit on the future construction. Answer from Precision’s standpoint.


l.
A customer orders and receives 72 MP3 players from Best Buy; the customer promises to pay $9,000 within three months. Answer from Best Buy’s standpoint.


m.
Delights, a retail store, sells a $45 lamp to a customer who charges the sale on his store credit card. Answer from Delights’ standpoint.

Required:

For each of the transactions, if revenue is to be recognized in June, indicate the revenue account title and amount. If revenue is not to be recognized in June, explain why.

E3-3B (similar to E3-4) [LO 2, 3] Identifying Expenses

Revenues are normally recognized when goods or services have been provided and payment or promise of payment has been received. Expense recognition is guided by an attempt to match the costs associated with the generation of those revenues to the same time period. The following transactions occur in January 2016:


a.  LeWorld Company uses $4,320 worth of electricity and natural gas in its headquarters building for which it has not yet been billed.


b.
At the beginning of January, Garcia Construction Company pays $426 for magazine advertising to run in monthly publications each of the first three months of the year.


c.
HelpDesk pays its computer service technicians $233,400 in salaries for the two weeks ended January 7. Answer from HelpDesk’s standpoint.


d.
A university orders 110,000 season baseball tickets from its printer and pays $6,700 in advance for the custom printing. The first game will be played in September. Answer from the university’s standpoint.


e.
A bookstore receives 320 accounting texts at a cost of $110 each. The terms indicate that payment is due within 35 days of delivery.


f.
During the last week of January, the bookstore sells 250 of the accounting texts received in (e) at a sales price of $150 each.


g.
Honda, Inc., pays its salespersons $11,200 in commissions related to December automobile sales. Answer from Honda’s standpoint.


h.
On January 31, Honda, Inc., determines that it will pay its salespersons $13,720 in commissions related to January sales. The payment will be made in early February. Answer from Honda’s standpoint.


i.
A new grill is purchased and installed at a restaurant at the end of the day on January 31; a $10,750 cash payment is made on that day.


j.
Dade Mall had janitorial supplies costing $2,000 in storage on January 1. An additional $1,700 worth of supplies was purchased during January. At the end of January $960 worth of janitorial supplies remained in storage.


k.
A Wendy’s employee works eight hours, at $12 per hour, on January 31; however, payday is not until February 3. Answer from Wendy’s point of view.


l.
Boot’s Company pays $4,800 for a fire insurance policy on January 1. The policy covers 12 months beginning on January 1. Answer from Boot’s point of view.


m.
Redtree Incorporated has its delivery van repaired in January for $750 and charges the amount on account.


n.
Saas Company, a fitness equipment company, receives its phone bill at the end of January for $179 for January calls. The bill has not been paid to date.


o.
Jill Company receives and pays in January a $2,380 invoice (bill) from a consulting firm for services received in January.


p.
Monk’s Taxi Company pays a $795 invoice from a consulting firm for services received and recorded in December. 

q. 
T-shirt World completes production of 500 men’s shirts ordered by Shine’s department stores at a cost of $12 each and delivers the order. Answer from T-shirt World’s standpoint.

Required:

For each of the transactions, if an expense is to be recognized in January, indicate the expense account title and the amount. If an expense is not to be recognized in January, indicate why.
E3-4B (similar to E3-6) [LO 4] Determining Financial Statement Effects of Various Transactions
The following transactions occurred for Norman Company during a recent year. Dollars are in thousands.


a.
Issued common stock to investors for $7,047 cash. 


b.
Purchased $654,721 of additional inventory on account.


c.
Borrowed $40,000.


d.
Sold $556,374 of products to customers on account; cost of the products sold was $345,477

e.
Paid cash dividends of $15,450.


f.
Purchased for cash $44,125 in additional property, plant, and equipment.


g.
Incurred $285,000 in selling expenses, paying three-fourths in cash and owing the rest on account.


h.
Earned $2,340 interest on investments, receiving 90 percent in cash.


i.
Incurred $1,935 in interest expense to be paid at the beginning of next year.

Required:

For each of the transactions, complete the tabulation, indicating the effect (+ for increase and - for decrease) of each transaction. (Remember that A = L + SE, R - E = NI, and NI affects SE through Retained Earnings.) Write NE if there is no effect. The first transaction is provided as an example.



 Balance Sheet
                            Income Statement

	Transaction
	Assets
	Liabilities
	Stockholders’ Equity
	Revenues
	Expenses
	Net Income

	(a) (example)
	+7,047
	NE
	+7,047
	NE
	NE
	NE


E3-5B (similar to E3-7)  [LO 4] Recording Journal Entries

The following summarized transactions are typical of those that occurred in a recent year at Markham Industries (dollars are in thousands).

a.
Purchased equipment for $1,285 in cash.

b. 
Borrowed $12,000 from a bank, signing a short-term note.


c.
Provided $52,300 in service to customers during the year, with $17,250 on account and the rest received in cash.

d.
Paid $7,580 cash on accounts payable.

e.
Purchased $42,990 inventory on account.

 f. 
Paid payroll of $15,720 during the year.


g.
Received $29,480 from customers as payments on their account.


h.
Purchased and used $1,986 of fuel in delivery vehicles during the year (paid for in cash).


i.
Declared and paid $997 in dividends for the year.


j.
Incurred $86 in utility usage during the year; paid $36 in cash and owed the rest on account.

Required:

For each of the transactions, prepare journal entries. Determine whether the accounting equation remains in balance and debits equal credits after each entry.

E3-6B (similar to E3-8) [LO 4] Recording Journal Entries

Kaye Resorts, Inc., owns and operates five premier ski resort properties where they sell lift tickets, ski lessons, and ski equipment. The following hypothetical transactions are typical of those that occur at the resorts in January.


a.
Borrowed $3,500,000 from the bank on June 1, signing a note payable due in six months. 


b.
Purchased a new snowplow for $75,000 cash on January 31.


c.
Purchased 80 snowboards for $29,000 on account to sell in the ski shops.


d.
Incurred $42,000 in routine maintenance expenses for the chairlifts; paid cash.


e.
Sold $175,000 of season passes (valid February through March) and received cash.


f.
Sold a snowboard to a customer for $600 on account. (The cost of the snowboard was $375.)


g.
Sold ski lessons in January for a total of $170,000 in cash.


h.
Received a $4,200 deposit on a lodge to be rented for five days in March.

i.
Paid half the charges incurred on account in (c).


j.
Received $250 on account from the customer in (f).


k.
Paid $205,000 in wages to employees for the month of January.
Required:


1.
Prepare journal entries for each transaction. (Remember to check that debits equal credits and that the accounting equation is in balance after each transaction.)


2.
Assume that Kaye Resorts had a $1,400 balance in Accounts Receivable at the beginning of January. Determine the ending balance in the Accounts Receivable account at the end of January based on transactions (a) through (k). Show your work in T-account format.

E3-7B (similar to E3-10) [LO 3, 4] Analyzing the Effects of Transactions in T-Accounts and Computing Cash Basis versus Accrual Basis Net Income

George’s Piano Rebuilding Company has been operating for one year (2013). At the start of 2014, its income statement accounts had zero balances and its balance sheet account balances were as follows:

Cash
$ 7,400

Accounts receivable
15,000

Supplies
990
Equipment
14,000

Land
10,000

Building
                               32,500      

Required:


1.
Create T-accounts for the balance sheet accounts and for these additional accounts: Rebuilding Fee Revenue, Rent Revenue, Wages Expense, and Utilities Expense. Enter the beginning balances.


2.
Enter the following January 2014 transactions in the T-accounts, using the letter of each transaction as the reference:

a. 
Rebuilt and delivered seven pianos in January to customers who paid $14,750 in cash.

b. 
Received a $400 deposit from a customer who wanted his piano rebuilt.


c.
Rented a part of the building to a bicycle repair shop; received $320 for rent in January.


d.
Received $8,400 from customers as payment on their accounts.


e.
Received an electric and gas utility bill for $475 to be paid in February.


f.
Ordered $680 in supplies.


g.
Paid $1,440 on account in January.


h.
Received from the home of Jim Smith, the major shareholder, a $1,200 tool (equipment) to use in the business.

i.

Paid $12,000 in wages to employees who worked in January.

j.

Declared and paid a $1,300 dividend.

k.

Received and paid cash for the supplies in (f).


3.
Using the data from the T-accounts, amounts for the following on January 31, 2014, were




Revenues $ ____- Expenses $ ____  = Net Income $ ____




Assets $ ____ = Liabilities $___  +  Stockholders’ Equity $ ____

4. What is net income if Stacey’s used the cash basis of accounting? Why does this differ from accrual basis net income (in requirement 3)?

E3-8B (similar to E3-11) [LO 5] Preparing an Income Statement, Statement of Stockholders’ Equity, and Classified Balance Sheet

Refer to E3–7B.

Required:

Use the ending balances in the T-accounts in E3-7B to prepare the following:


1.
An income statement for January 2014, in good form (ignore income taxes).


2.
A statement of stockholders’ equity for January 2014, in good form.


3.
A classified balance sheet as of January 31, 2014, in good form.

E3-9B (similar to E3-13) [LO 4] Analyzing the Effects of Transactions in T-Accounts

Christy Banks and Karen Jones had been operating a decorating business for several years. In June 2014, the partners were planning to expand by opening a retail sales shop and decided to form the business as a corporation called Dress it up, Inc. The following transactions occurred in June 2014:


a.
Received $60,000 cash from each of the two shareholders to form the corporation. The partners also contributed $4,000 in accounts receivable, $9,000 in equipment, a van (equipment) appraised at a fair market value of $11,000, and $600 in supplies.


b.
Purchased a vacant store for $240,000, making a $75,000 cash down payment and signing a 10-year mortgage from a local bank for the rest (ignore interest).


c.
Borrowed $100,000 from the local bank on a 10 percent, one-year note (ignore interest).


d.
Purchased and used paper supplies costing $7,850; paid cash.


e.
Finished three homes in June for $6,700; $3,000 was billed, and the rest was received in cash.


f.
Made and sold items at the retail store for $4,700 cash.


g.
Received a $200 telephone bill for June to be paid in July.


h.
Paid $289 in gas for the van in June.


i.
Paid $5,390 in wages to employees who worked in June.


j.
Paid a $150 dividend from the corporation to each owner.


k.
Purchased $15,000 of equipment and renovated and decorated the new store for $35,000 (added to the cost of the building); paid cash.

Required:


1.
Set up appropriate T-accounts for Cash, Accounts Receivable, Supplies, Equipment, Building, Accounts Payable, Note Payable, Mortgage Payable, Contributed Capital, Retained Earnings, Retail Store Revenue, Decorating Revenue, Supplies Expense, Utilities Expense, Wages Expense, and Fuel Expense. Enter the beginning balances in the T-accounts.

2.
Record in the T-accounts the effects of each transaction for Dress it up, Inc., in June. Identify the amounts with the letters starting with (a). Compute ending balances.

E3-10B (similar to E3-16) [LO 4, 6] Inferring Operating Transactions and Preparing an Income Statement and Balance Sheet

Vicky’s Kite Company (a corporation) sells and repairs kites from manufacturers around the world. Its stores are located in rented spaces in malls and shopping centers. During its first month of operations ended April 30, 2014, Vicky’s Kite Company completed eight transactions with the dollar effects indicated in the following schedule:

                                                                               Dollar Effect of Each of the Eight Transactions

	Accounts
	
	
	
	
	
	
	
	
	Ending

Balance

	
	(a)
	(b)
	(c)
	(d)
	(e)
	(f)
	(g)
	(h)
	

	Cash
	$83,300
	$(24,200)
	$(3,200)
	$ 4,680
	
	$(1,760)
	$(3,125)
	$1,320
	

	Accounts Receivable
	
	
	
	  16,520
	
	
	
	
	

	Inventory
	
	
	14,800
	  (11,600)
	
	
	
	
	

	Prepaid Expenses
	
	
	
	
	
	
	1,563
	
	

	Store Fixtures
	
	24,200
	
	
	
	
	
	
	

	Accounts Payable
	
	
	11,600
	
	$1,080
	
	
	
	

	Unearned Revenue
	
	
	
	
	
	
	
	760
	

	Contributed Capital
	83,300
	
	
	
	
	
	
	
	

	Sales Revenue
	
	
	
	21,200
	
	
	
	560
	

	Cost of Sales
	
	
	
	  11,600
	
	
	
	
	

	Wages Expense
	
	
	
	
	
	1,760
	
	
	

	Rent Expense
	
	
	
	
	
	
	1,562
	
	

	Utilities Expense
	
	
	
	
	1,080
	
	
	
	


Required:


1.
Write a brief explanation of transactions (a) through (h). Include any assumptions that you made.


2.
Compute the ending balance in each account and prepare an income statement and a classified balance sheet for Vicky’s Kite Company on April 30, 2014.

E3-11B (similar to E3-18) [LO 5, 6]  Inferring Transactions and Computing Effects Using T-Accounts

Tundra, Inc’s recent accounting records included the following accounts. Dollars are in millions:


Accounts Receivable 

       Prepaid Expenses 
                Unearned Subscriptions

1/1

844


1/1
 125



      69
1/1


         1729
?

                193
  ?

     ?
      99
12/31       530


12/31
118



      96   12/31
Required:


1.
For each T-account, describe the typical transactions that affect each account (that is, the economic events that occur to make these accounts increase and decrease).


2.
For each T-account, compute the missing amounts.

Accounts payable	$  6,700


Unearned fee revenue (deposits)	4,400


Note payable (long-term)	56,000


Contributed capital	10,200


Retained earnings		              2,590
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